LakeCounty  Division of Transportation						
	Sı	ummary of Bids Rece	eived			
Projec	t: Concrete Patching 2021	•				
	n: 21-00000-10-GM					
· ·	n: Patch Concrete Pavement					
	1: B-01326					
Let Date	e: 7/13/2021					
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Acura Inc.	556 County Line Rd	Bensenville, IL 60106	Bid Bond	\$110,887.00	_	-\$58,230.0
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$138,257.00		-\$30,860.0
Landmark Contractors, Inc.	11916 W. Main Street	Huntley, IL 60142	Bid Bond	\$143,866.05	-14.93%	-\$25,250.9
A Lamp Concrete Contractors, Inc.	1900 Wright Blvd	Schaumburg, IL 60193	Bid Bond	\$214,923.00	27.09%	\$45,806.0
Engineer's Estimate				\$169,117.00		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.		/////////////////////////////////////	mming	

Request By Mail

Construction

Project File



## **Return Bid Tabulation**

Project: Concrete Patching 2021 Section: 21-00000-10-GM Description: Patch Concrete Pavement

**CPMS Pin:** B-01326

Item No.	Pay Code	Description	le Description Quantity Unit Eng Estimate		timate	Alliance Cont	ractors, Inc.	Landmark Contractors, Inc.		A Lamp Concrete Contractors, Inc.		Acura Inc.		
NO.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	42001300	PROTECTIVE COAT	712.0	SQ YD	\$1.00	\$712.00	\$1.00	\$712.00	\$4.55	\$3,239.60	\$5.00	\$3,560.00	\$1.00	\$712.00
2		PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	360.0	SQ FT	\$6.00	\$2,160.00	\$18.00	\$6,480.00	\$12.75	\$4,590.00	\$14.00	\$5,040.00	\$10.00	\$3,600.00
3		COMBINATION CURB AND GUTTER REMOVAL	6.0	FOOT	\$5.00	\$30.00	\$25.00	\$150.00	\$36.00	\$216.00	\$50.00	\$300.00	\$30.00	\$180.00
4	44000600	SIDEWALK REMOVAL	490.0	SQ FT	\$1.50	\$735.00	\$2.00	\$980.00	\$2.53	\$1,239.70	\$3.00	\$1,470.00	\$3.00	\$1,470.00
5	44200050	WELDED WIRE REINFORCEMENT	278.0	SQ YD	\$20.00	\$5,560.00	\$10.00	\$2,780.00	\$9.00	\$2,502.00	\$10.00	\$2,780.00	\$15.00	\$4,170.00
6	44200948	CLASS B PATCHES, TYPE I, 9 INCH	2.0	SQ YD	\$1,000.00	\$2,000.00	\$325.00	\$650.00	\$2,500.00	\$5,000.00	\$5,900.00	\$11,800.00	\$500.00	\$1,000.00
7	44200956	CLASS B PATCHES, TYPE II, 9 INCH	20.0	SQ YD	\$250.00	\$5,000.00	\$325.00	\$6,500.00	\$535.00	\$10,700.00	\$1,500.00	\$30,000.00	\$300.00	\$6,000.00
8	44200988	CLASS B PATCHES, TYPE IV, 11 INCH	278.0	SQ YD	\$230.00	\$63,940.00	\$335.00	\$93,130.00	\$250.00	\$69,500.00	\$385.00	\$107,030.00	\$200.00	\$55,600.00
9	44201299	DOWEL BARS 1 1/2"	120.0	EACH	\$50.00	\$6,000.00	\$10.00	\$1,200.00	\$19.50	\$2,340.00	\$1.00	\$120.00	\$15.00	\$1,800.00
10	44213200	SAW CUTS	725.0	FOOT	\$10.00	\$7,250.00	\$4.00	\$2,900.00	\$12.35	\$8,953.75	\$6.00	\$4,350.00	\$7.00	\$5,075.00
11	44213204	TIE BARS 3/4"	120.0	EACH	\$15.00	\$1,800.00	\$5.00	\$600.00	\$15.00	\$1,800.00	\$1.00	\$120.00	\$15.00	\$1,800.00
12		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	6.0	FOOT	\$30.00	\$180.00	\$175.00	\$1,050.00	\$350.00	\$2,100.00	\$150.00	\$900.00	\$100.00	\$600.00
13	67100100	MOBILIZATION	1.0	L SUM	\$7,500.00	\$7,500.00	\$1,600.00	\$1,600.00	\$8,500.00	\$8,500.00	\$12,000.00	\$12,000.00	\$6,650.00	\$6,650.00
14	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	210.0	FOOT	\$5.00	\$1,050.00	\$0.50	\$105.00	\$0.50	\$105.00	\$0.10	\$21.00	\$3.00	\$630.00
15	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	20.0	FOOT	\$5.00	\$100.00	\$5.00	\$100.00	\$5.00	\$100.00	\$0.10	\$2.00	\$5.00	\$100.00
16	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	210.0	FOOT	\$10.00	\$2,100.00	\$27.00	\$5,670.00	\$30.00	\$6,300.00	\$31.00	\$6,510.00	\$10.00	\$2,100.00
17	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	20.0	FOOT	\$20.00	\$400.00	\$40.00	\$800.00	\$45.00	\$900.00	\$46.00	\$920.00	\$25.00	\$500.00
18	X6062206	STAMPED COLORED PORTLAND CEMENT CONCRETE MEDIAN SURFACE 6 INCH	130.0	SQ FT	\$20.00	\$2,600.00	\$45.00	\$5,850.00	\$56.00	\$7,280.00	\$50.00	\$6,500.00	\$30.00	\$3,900.00



## **Return Bid Tabulation**

**Project:** Concrete Patching 2021 **Section:** 21-00000-10-GM

**Description:** Patch Concrete Pavement

Item No.		Description	Quantity	Unit	Eng Estimate		Alliance Contractors, Inc.		Landmark Contractors, Inc.		A Lamp Concrete Contractors, Inc.		Acura Inc.	
140.	NO.			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
19	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$60,000.00	\$60,000.00	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$21,500.00	\$21,500.00	\$15,000.00	\$15,000.00
		Bid Total				\$169,117.00		\$138,257.00		\$143,866.05		\$214,923.00		\$110,887.00



## **Return Bid Details**

**Project:** Concrete Patching 2021 **Section:** 21-00000-10-GM

**Description:** Patch Concrete Pavement

Item	Day Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	
1	42001300	PROTECTIVE COAT	712.0	SQ YD	\$1.00	\$712.00	\$0.00	\$0.00	\$0.00
2	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	360.0	SQ FT	\$6.00	\$2,160.00	\$1.00	\$5.00	\$2.89
3	44000500	COMBINATION CURB AND GUTTER REMOVAL	6.0	FOOT	\$5.00	\$30.00	\$10.00	\$18.00	\$13.69
4	44000600	SIDEWALK REMOVAL	490.0	SQ FT	\$1.50	\$735.00	\$25.00	\$50.00	\$35.25
5	44200050	WELDED WIRE REINFORCEMENT	278.0	SQ YD	\$20.00	\$5,560.00	\$2.00	\$3.00	\$2.63
6	44200948	CLASS B PATCHES, TYPE I, 9 INCH	2.0	SQ YD	\$1,000.00	\$2,000.00	\$9.00	\$15.00	\$11.00
7	44200956	CLASS B PATCHES, TYPE II, 9 INCH	20.0	SQ YD	\$250.00	\$5,000.00	\$325.00	\$5,900.00	\$2,306.25
8	44200988	CLASS B PATCHES, TYPE IV, 11 INCH	278.0	SQ YD	\$230.00	\$63,940.00	\$300.00	\$1,500.00	\$665.00
9	44201299	DOWEL BARS 1 1/2"	120.0	EACH	\$50.00	\$6,000.00	\$200.00	\$385.00	\$292.50
10	44213200	SAW CUTS	725.0	FOOT	\$10.00	\$7,250.00	\$1.00	\$19.50	\$11.38
11	44213204	TIE BARS 3/4"	120.0	EACH	\$15.00	\$1,800.00	\$4.00	\$12.35	\$7.34
12	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	6.0	FOOT	\$30.00	\$180.00	\$100.00	\$350.00	\$193.75
13	67100100	MOBILIZATION	1.0	L SUM	\$7,500.00	\$7,500.00	\$1,600.00	\$12,000.00	\$7,187.50



## **Return Bid Details**

**Project:** Concrete Patching 2021 **Section:** 21-00000-10-GM

**Description:** Patch Concrete Pavement

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code		Quantity		Unit Price	Extnd. Price	Price	Price	Price
14	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	210.0	FOOT	\$5.00	\$1,050.00	\$0.10	\$3.00	\$1.03
15	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	20.0	FOOT	\$5.00	\$100.00	\$0.10	\$5.00	\$3.78
16	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	210.0	FOOT	\$10.00	\$2,100.00	\$10.00	\$31.00	\$24.50
17	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	20.0	FOOT	\$20.00	\$400.00	\$25.00	\$46.00	\$39.00
18	X6062206	STAMPED COLORED PORTLAND CEMENT CONCRETE MEDIAN SURFACE 6 INCH	130.0	SQ FT	\$20.00	\$2,600.00	\$30.00	\$56.00	\$45.25
19	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1	L SUM	\$60,000.00	\$60,000.00	\$7,000.00	\$21,500.00	\$13,000.00
		Bid Total			\$169,117.00				